
Test#1: 4G – No external antenna (inside the house) 

 

 

  



Test #2: 4G – No external antenna – (outside the house) 

 

 

C:\Users\stuartm>ping -t 1.1.1.1 

 

Pinging 1.1.1.1 with 32 bytes of data: 

Reply from 1.1.1.1: bytes=32 time=28ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=28ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=29ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=36ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=24ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=32ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=33ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=34ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=30ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=31ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=25ms TTL=52 



Reply from 1.1.1.1: bytes=32 time=27ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=33ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=28ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=28ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=23ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=28ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=27ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=28ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=29ms TTL=52 

 

Ping statistics for 1.1.1.1: 

    Packets: Sent = 20, Received = 20, Lost = 0 (0% loss), 

Approximate round trip times in milli-seconds: 

    Minimum = 23ms, Maximum = 36ms, Average = 29ms 

 

Test#3: 4G with external antenna (outside the house) 

 

C:\Users\stuartm>ping -t 1.1.1.1 

 



Pinging 1.1.1.1 with 32 bytes of data: 

Reply from 1.1.1.1: bytes=32 time=1547ms TTL=52 

Request timed out. 

Reply from 1.1.1.1: bytes=32 time=1166ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=101ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=149ms TTL=52 

Request timed out. 

Reply from 1.1.1.1: bytes=32 time=878ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=1580ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=1656ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=664ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=1283ms TTL=52 

Request timed out. 

Request timed out. 

Request timed out. 

Request timed out. 

Reply from 1.1.1.1: bytes=32 time=2105ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=827ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=779ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=322ms TTL=52 

Reply from 1.1.1.1: bytes=32 time=936ms TTL=52 

Request timed out. 

Reply from 1.1.1.1: bytes=32 time=270ms TTL=52 

Request timed out. 

 

Ping statistics for 1.1.1.1: 

    Packets: Sent = 23, Received = 15, Lost = 8 (34% loss), 

Approximate round trip times in milli-seconds: 

    Minimum = 101ms, Maximum = 2105ms, Average = 950ms 


